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1. 12xz — 16z
AN 12xz — 162 = 4z(3x — 4)
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2. X2 — 14x + 24
A§M1 X2 — 14x + 24 = (x - 2)(x - 12)
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3. X%2+6x+9
2§91 x2 + 6x + 9 = (x + 3)2
(¥ ovasusal)
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4. x2 — 25

A9 x2 — 25 = (x + 5)(x — 5)
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1. wwﬂéf’sﬂ%ﬂaumw (X2+10x+25)—64x2

aead o

AN (x? + 10x + 25) — 64x%?
= (x + 5)%2 — (8x)?
= [(x + 5) + (8x)][(x + 8) — (8x)]
= (X + 5 + &8X)(x + 5 — 8x)




1. wnwﬂéhﬂ%ﬂaumw (X2+10x+25)—64x2

= (x + &5 + 8x)(x + &5 — &x)
= (9% + S)(—*x + 5)
= —(9% + 5)(#x — 95)

I (X°+10x+25)—64x° = —(9x + 5)(IX — 5)
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1. asuanralss navtasymum (2 - 16x + 643 - 52

62 - 16 + 64} -2

2. psusnFEnavtasvLTY 900y? - 16(y* + 4Dy + 400}
900y? - 16(y% + 4Dy + 400} =
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1. ULLYNEIUSTLNOUVDY (Xx2—16X+64)—X2

ad

18911 (X*—16x+64)—x°

= (x - 8)2 — X°

= lx - 8) + xli{x - 8) — X]
= (x - & + x)(x - & — Xx)
= (2x - 8)(8)




1. ULLYNEIUSTLNOUVDY (Xx2—16X+64)—X2

ad

18911 (X*—16x+64)—x°

= (2x - 8)(8)
= &(2x - 8)
= 16(x - 4)
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AINAIS) (x2 — 16X + 64) — x° = 16(x - 4)




2. ULENAIUTENOUVDY 900y2—16(y2+40y+400)

3§¥1  900y® — 16(y° + 40y + 400)

= (80y)° — 16(y + 20)°
= (80y)° — [4(y + 20)F

= (30y)° — (4y + 80)




2. ULENAIUTENOUVDY 900y2—16(y2+40y+400)

= [B0y + (4y+80)][80y — (4y+80)]
= (84y + 80)(26y — 80)

§9T  900yP—16(y2+40y+400) = (84y+80)(26y—80)







